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1.Why is cloud scalability considered a major advantage of cloud-based infrastructures?
A. It enables automatic updating of all client systems

B. It reduces the need for end-user licenses

C. It allows businesses to adjust resources based on demand

D. It forces businesses into long-term contractual commitments

Answer: C

2.Which factors should be considered when determining the appropriate deployment option for Azure
Stack HCI on HPE infrastructure?

A. The geographical location of the organization’s headquarters

B. The predicted growth of data in the next 10 years

C. Current workload types and sizes

D. Future marketing strategies

Answer: C

3.How to identify the best solution for a customer's requirements?
A. Vendor preference

B. Lowest cost solution

C. Solution scalability

D. Fastest implementation

Answer: C

4 Which storage configuration is optimal for performance in an Azure Stack HCI deployment?
A. HDD only for cold storage

B. A combination of SSD and NVMe drives

C. All-flash HDD

D. SAS-based storage

Answer: B

5.Which of the following are key benefits of using HPE ProLiant servers with Microsoft Azure Stack HCI?
(Select two)

A. Limited virtualization support

B. High scalability and flexibility

C. Full integration with Microsoft Azure services

D. Proprietary networking hardware

Answer: BC
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